R ER AR RS R E

e R 2 —

- ' E=F | | L
o MEAELTO 7 HRE @ 700
a e — a
Mg R L o il R
=2 ° il L . & |HEEe=
LHE R [ Migaiesy | WEpA |
Wik eyt mrE SR |
k [ e |
] a Mo IS=
i

1SO9001
PAUAY VAT LI

@ S —
7 =
g -

4

-._-.-: L&

i .r'_.h!H If',i“

HEREHEEEE

L&




e E

HE=E3

¢ HiAEIFOUVIERS

. 8
M= [}
AREE? Ho— 7=




—

=

R KEE

FHRFT,

AAEIE R B2 —

Iﬁf

1250

1700

L
! | |
- - - e — Ed: -t -
| h i
1
Caae) 3
= pene
3 rn
10,000 [wri
QW | 125Pg
I Bliagcss ) || CONEN
| 2 BRERE
el (B U SR
‘ +25Pg
e r-..\
| \\ T r:;:\ ‘ H
H 1500X70 “_/
- N #BrTro4x 1 )
TES - 100,000 Lo
- e +10Pa
{ Bl ] . |
- _1 ’ ..'. ‘l
& '_i IP

| | |
R —— |
7‘?:!‘!‘9%! e e
Rt #12257% BREEE | (un)
Fisra ~20Pa . "?%ﬁ =
LLEYR 4133
WS =
fm ,.;%s-" ,1_\
A70Re =
|21
a o AS0ATEe =
F=i [ 3 [ 8
BHraeze b 1:.75 :::m o "M sawrso | socrsy | @
| AREEE Q Q
100,000
— +10Pa 4
e ~ cea-| T PSOTS0
8 e IR
o b .@@
20 o E = i
it | — Y

-




Eﬂﬁﬂk?
:%ﬁf/&—

Nl
-
A

Sy

1700

5
St

| I | \i ‘ | l E
T e — T »:H: F———=f——-—f—-}—- = == — L -
= ; 1 I?ﬂl:l!ﬁa = e e
109%00 Fhy=2 1% SRl {-.,
+15Pu 100,000 = BEx N’
—20Pg T 7 10,000
M - —50Pa
BHes 2y | u u @' DOOReE BHyy 27 F HE | EMay 2
T4 E NS p 3
Q AURE EEHRE 100,000
HEE2 fae| +10Pa
10,800 | g | 18.000 v ==
+25Pa =l = 4+25Pa ‘\\ I’ S =
=1 P8R’ = i P -
\ P =~
wime (| (5 s (20w fny 00,0002 s comse
ARy r24% 1 ' Tl _4 s o "
100,000 L’ owsectet || oow | om0 o (ke
+10Pa
= = s BEREE Q Q
= 100,000
; . +10Pa i
~ Gyd-| ¥ pSIs0
| o [ =
a .
- A Z00G%0 - |28 5 N
a =g CT=lC/
"
1 T 1 1 r = e =f = = | -“'_—I




7T

HEREFERRFICBITFAER - MRIGE R

N YRR 144E(200242) 2 A
SCEH R A S E A EE R B LD, B R R B R B

-

2. BEPN B ER SR AE : ERR 144E(20024F) 4 H

v E—R (D) R KE(EEFRSUER - AT ER BT - HER)

BEHARS 7 (BF)
-EHRHEEE -WEEHELE Bl —REIHRE)
BRI T (BEEERbH B B - i 55 - Bl &)
RS EHELE
K HiISk (BTG B IR - VANV AR RS 43 B - HEZ 1)

e g 2 HEF KL &K

H:EHIEE %E Hok b ER, R R hlEk

HEMER: T EF30S0900148Y), Bl b+ (BEAEFEEHFIEHEY)
RAB—ER (57— 2 FHEY)




